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[# New Thread

COURSES
COMP2017
CS.next Sandbox

INFO1110 1910 9001 3

CATEGORIES

® General

® Lectures
Tutorials

® Challenges

® Problem Sets

® Project

® Software

® Final Exam

. 1910

® Timetable

2 16 others online

The University of Sydney

10 9001 - Discussion

Q_ search

Filter v
Pinned
@ Welcome to INFO1110! *
Software CindyLeong &1 starr  15h
/0 Timetable FAQ g
General Victor Kuo #) stase  7d 13 (2 new) 7
20 Welcome »
General John Stavrakakis stasf  14d 3 12
This Week
(?) Question about Lab v

General Men Men 14h 1

® @ WSL - Installation Guide and FAQs

Software CindyLeong & stase  15h

® @ WSL-Where are my files? FAQ

Software CindyLeong &f starr  15h

@ Question on intensive january for INFO1113

General EmilyHuang 2d 2

() Lab Swap: T16A to T10A, T12A OR T14A g

General Tim Schmid 2d 1

Welcome to INFO1110!

i 08 starr (0]
Cindy Leong &8 — 1 * 26
15 hours ago in Software UNPIN STAR WATCH VIEWS

There will be a couple sections to this post. Please read it thoroughly to ensure
you are well prepared for this course!

USEFUL LINKS:

Pass requirements: https://edstem.org/courses/4692/discussion/271741
Weekly Lessons: https://edstem.org/courses/4692/discussion/271722
Problem Sets: https://edstem.org/courses/4692/discussion/271720
Final Exam:

* computer exam: https://edstem.org/courses/4692/discussion/271726
« oral exam: https://edstem.org/courses/4692/discussion/271737

1)_Unix system - COMPLETE THIS BY END OF WEEK 1!

In this course, we highly recommend the use of a Unix based system.
If you're using macOS or Linux, you're all covered and running Unix already!

Otherwise if you're on Windows, we recommend ONE of the following three
options:

« Install the Windows Subsystems for Linux (only available on Windows 10).
Guide here: https://edstem.org/courses/4692/discussion/273058

¢ Install Git Bash.
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INFO1110 1910 9001 - Discussion

COURSES

COMP2017
CS.next Sandbox
INFO1110 19109001 3

INFO1110 1910 90... 4134

CATEGORIES

® General
® Lectures
Tutorials
W1
W2
w3
w4
W5 X
W6
w7
w8
w9
W10
W11
W12
W13

® Evaluation

The University of Sydney

Q_ Search

1)Jun 2020

® (7) week 6 cone
Joan Liau 3mth
(7) week 5 cats revision

Joan Liau 3mth

20 Apr 2020

o (7) Weekly helpful recap — ¥ notes and ex...

Samuel Catts  4mth

® () Memory Allocation (list copy function)

Philip Law  4mth
6 Apr 2020

® (7) Pass by Reference and Value

Kim Zheng 4mth 1
30 Mar 2020

® (7) lab5 q5 part3

Yizhen Song  Smth

* @ t5qlpd

Yibo Zhao Smth

e () W5Q6

A week 5 cats revision

v

2

You are viewing this thread in readonly mode because this course has been archived.

Joan Liau €E3ss3 OE3151 W1oE

3 months ago in

cats = ['Tom', 'Harvey',

i =
while i < len(cats):

currentcat = cats[i]

print(currentcat)

print(len(currentcat))
longestcat = cats[0]

print(longestcat)

print(len(longestcat))

if len(currentcat) > len(longestcat):

longestcat =
it= 1
print(longestcat)

Spots
5

Tom
3

Spots

+/ Program exited with code 0

currentcat

'Spots']
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m
>
o

IR 72

{ Workspaces @ B

B README

@ hello.py

o ” Py

The University of Sydney

¥ o Lecture - Week 1 22 2 & = B < ¥ LI %
@ hello.py B README @ jipy Participants
print("Hello!") )
. o o John Stavrakakis
radius = 100
. . @ Masahiro Takatsuka
print(radius)

John Stavrakakis
print(str(radius + 50)) //help here!!!

print(radius)

radius = (radius + 50) Chat

Today at 2:50 PM

print(radius) hello m
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9

R EER,

{ Workspaces & B

B README

@ hello.py

@ jj.py

The University of Sydney

¥ o Lecture - Week 1
@ hello.py B README @ jipy
print("Hello!")
radius = 10€
print(radius)

# comments are done using #, not //

22 > & = B < N %

Participants

0 John Stavrakakis

m Masahiro Takatsuka

Ty nent will add two numbers, convert to string, then

print(str(radius + 50)) # help here!!!

print(radius)
radius = (radius + 50)

print(radius)
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ed ”‘Ybﬁ'fé\”{' INFO1113 - Assessments =2 ah = L

< Assessments = IR <O Submissions  + Solution (hidden)  *e«

& + 4. Transaction.java . BankAccountjava £ Bankerjav  Edit

S Descrlption
import java.util.List; Reset to Scaffold

Remark Submissions...

Assignment 1 - Banker public class BankAccount { Submit All

You can find the assignment specification and code public static final int DEFAULT = 10000; Download Results...
D -

documentation in the Resources page. o
Download Similarity Report...

x Constructor for the BankAccount object

@param accNo the account number

x* @param first the fir name of the person
@param last the surname of the perso

x @param balance the starting balance of the account

public BankAccount(int accNo, String first, String last, 1int balance)

TODO: +implement this
}
Returns the formatte the account.
* <accNo> <firstName> $<balance>
x @return the formatted String

public String details() {

The University of Sydney

Page 12



Edstem.org :“FEBFEDTAIIRIL - Cheating/h=2T DIFH

Course similarity report

© 0O N O 00 » W N =

P O O ™ O o e e Y
o 0 A WO N = O

User 1
@D 2 uni.sydney.edu.au
-@uni.sydney.edu.au
@ i sydney.edu.au
@ .i.sydney.edu.au
@y i sydney.edu.au
@ uni.sydney.edu.au

@ Ui sydney.edu.au
G- uni.sydney.edu.au

QY ni.sydney.edu.au
@ .ni.sydney.edu.au
Gy i sydney.edu.au
@ ui.sydney.edu.au
@D i sydney.edu.au
> uni.sydney.edu.au
w@uni.sydney.edu.au
‘uni.sydney.edu.au

The University of Sydney

User 2

duni.sydney.edu.au
@D uni.sydney.edu.au
@R i sydney.edu.au
G- ni.sydney.edu.au
G- i sydney.edu.au
@2 uni.sydney.edu.au
G @ uni.sydney.edu.au
“ni.sydney.edu.au
G i sydney.edu.au
QG- uni.sydney.edu.au
@- uni.sydney.edu.au
G i sydney.edu.au
@ ni.sydney.edu.au
@ | i-sydney.edu.au
G- .ni.sydney.edu.au
@ i.sydney.edu.au

Score
43.08
29.37
26.13
24.85
24.55
23.31
22.84
22.25
22.09
21.91
21.72
20.30
20.24
20.20
19.96
19.62

View graph

Matched lines
545
495
223
344
423
256
65
334
252
508
362
342
50
288
47
346
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750
751
752
753
754
755
756
757
758

}

for (int i : others) {
BankAccount mergedAcc = accounts.get(i);
if (mergedAcc == null)
throw new Exception("no such account");

if (destination == mergedAcc) {
throw new Exception("sender cannot be receiver");

Transaction newTransaction = new Transaction(transacti
mergedAcc, mergedAcc.getBalance(), prevHash);

newList.add(newTransaction);

prevHash = newTransaction.getCurrentHash();

for (Transaction i : newList) {
transactions.add(i);
i.getSender().processTransaction(i);
i.getReceiver().processTransaction(i);

}

System.out.println("success");

} catch (Exception e)
System.out.println(e.getMessage());

}

/%%
* Displays the lowest balance in the system.
*/
public void min() {
// TODO: implement this
List<BankAccount> temp = new ArrayList<>();
for (BankAccount i : accounts.values()) {
temp.add(i);

¥

if (temp.size() > @) {
int min = BankAccount.findMin(temp);
System.out.println("$" + min);

} else {
System.out.println("no accounts");

}

/%%
* Displays the highest balance in the system.
*/

public void max() {
// TODO: implement this
List<BankAccount> temp = new ArrayList<>();
for (BankAccount i : accounts.values()) {
temp.add(i);

_uni.sydney.edu.au

680 for(int i : others){

681 BankAccount mergeAcc = accounts.get(i);
682 if(mergeAcc == null){

683 throw new Exception("no such account");
684

685 if(destAcc == mergeAcc){

686 throw new Exception("sender cannot be receiver");
687 >

688 Transaction newTrans = new Transaction(transactions.si
689 newList.add(newTrans);

690 prevHash = newTrans.getHash();

691 b

692 for(Transaction i : newList){

693 transactions.add(i);

694 i.getSenderAcc().processTransaction(i);
695 i.getReceiverAcc().processTransaction(i);
696 ¥

697 System.out.println("success");

698 }catch(Exception e){

699 System.out.println(e.getMessage());

700 Y

701 }

702

703 /¥

704 * Displays the lowest balance in the system.

705 */

706 public void min() {

707 // TODO: implement this

708 List<BankAccount> newAccount = new ArrayList<>();
709 for(BankAccount i : accounts.values()){

710 newAccount.add(i);

711 b3

712 if(newAccount.size()>0){

713 int min = BankAccount.findMin(newAccount);
714 System.out.println("$" + min);

715 Yelse{

716 System.out.println("no accounts");

717 ]

718 }

719

720 /¥

721 * Displays the highest balance in the system.

722 */

723 public void max() {

724 // TODO: implement this

725 List<BankAccount> newAccount = new ArrayList<>();
726 for(BankAccount i : accounts.values()){

727 newAccount.add(i);

728 b3

729 if(newAccount.size()>0){

730 int max = BankAccount.findMax(newAccount);

Page
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User 1 User 2
dney.edu.au ni.sydney.edu.au

uni.sydney.edu.au

b

uni.sydney.edu.au

sydney.edu.au

sydney.edu.au

ni.sydney.edu.au

sydney.edu.au

ni.sydney.edu.au

ydney.edu.au

ni.sydney.edu.au

ni.sydney.edu.au

uni.sydney.edu.au

The University of Sydney

-uni.sydney.edu.au
ydney.edu.au
ni.sydney.edu.au

ni.sydney.edu.au

ni.sydney.edu.au
uni.sydney.edu.au

ni.sydney.edu.au

ini.sydney.edu.au
ni.sydney.edu.au

ydney.edu.au
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Score
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2225
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What is the output of the code above when executed in

Python3?

- If no response or the student seems completely lost: Ask
e = OSError('File does not exist :(') "Does this compile?"
print(isinstance(e, FileNotFoundError)) - If the student says "l don't know what isinstance is", tutor

can brief them on what it's supposed to do.

... - Tutor can clarify small details, such as what is “raise’?
e = ZeroDivisionError()

. - . . **1 mark:** The first print statement prints "False’
print(isinstance(e, ArithmeticError))

**1 mark:** The second print statement prints “True’

**1 mark:** For “raise’ will stop the program and last

e = 0SError() print statement will not run.
raise e
print(isinstance(e, OSError)) Follow up question: if “raise e’ was not there, what would

be the output?

**1 mark:** The third print statement prints “True’

The University of Sydney Page 19
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